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X+ Tx+8

32x° + 308x° + 437x + 168

3 2

x —x"+3x—10

5¢ + 21x% + 28x + 12

3> — 2607 + 16x

feTiep:

X =47 +Tx—6

16x° — 10x> — 93x — 63

X+ 2% —x—2

X+ T+ 4y — 12

8> — 6x> — 17x— 6
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X+ Tx+8 Y =4 +Tx—6
(x+ D —x+8) (x— 2)(* — 2x + 3)
32x° + 308x° + 437x + 168 16x° — 10x> — 93x — 63
(8x+ 7)(x + 8)(4x + 3) (2x + 3)(x — 3)(8x + 7)
X —x*+3x— 10 X+ —x—2
(x—2)(% +x+ 5) (x— D(x+2)(x+ 1)
5¢ + 21x% + 28x + 12 4+ T+ 44— 12
(5x+ 6)(x+ 1)(x+ 2) (x+ 6)(x — 1)(x + 2)
3> — 2607 + 16x 8> — 6x2 — 17x— 6
(3x— 2)(x — 8)x (dx + 3)(x — 2)(2x + 1)
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